 GR 2 U5 L15T2

Teacher reference sheet
This reference should be viewed in conjunction with the minilesson for GR 2 U5 L18.

Example #1
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            +   34
      80      (50 + 30 = 80)                     


    
        6       (2 + 4 = 6)








 

      86       (80 + 8 = 86 OR 8 tens and 6 ones is 86)         





   Example #2
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   + 61                        



 
    140      (8 tens and 6 tens is 14 tens which is equivalent to 140 OR 80 + 60 = 140)                   


        6       (5 + 1 = 6)



             

 146       (6 + 140 = 146)   

Example #3
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   + 58                        



             
      80      (3 tens + 5 tens = 8 tens = 80 OR 30 + 50 = 80)                     


  
      13       (5 + 8 = 13)



                                    

      93       (80 + 13 = 80 + 10 + 3 = 93 OR 8 tens and 13 ones = 93)
